
A roof tile falls straight down from a two-storey 
building. It lands in a swimming pool and settles gently 
at constant speed to the bottom. Draw a complete 
motion diagram of the tile. Be sure to show the 
acceleration at the lowest point!           (4 pts) 

Star%ng	
  from	
  rest,	
  the	
  %le’s	
  velocity	
  increases	
  un%l	
  it	
  hits	
  the	
  water	
  surface.	
  	
  
This	
  part	
  of	
  the	
  mo%on	
  is	
  represented	
  by	
  dots	
  with	
  increasing	
  separa%on,	
  
	
  indica%ng	
  increasing	
  average	
  velocity.	
  A>er	
  the	
  %le	
  enters	
  the	
  water,	
  	
  
it	
  se?les	
  to	
  the	
  bo?om	
  at	
  roughly	
  constant	
  speed,	
  so	
  this	
  part	
  of	
  the	
  	
  
mo%on	
  is	
  represented	
  by	
  equally	
  spaced	
  dots.	
  It	
  comes	
  to	
  an	
  abrupt	
  stop	
  at	
  	
  
bo?om,	
  hence	
  accelera%on	
  poin%ng	
  upward	
  there.	
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